Multiplication de Trois Trinomes (J)

Simplifiez chaque expression.

1 (—4w?® 4+ 9w? — 2w) (5w’ — w* — 6w?)(Tw?® + 2w + 5)

2 (—v* = 2v — 5)(=3v* + 8v® — 3v%)(=8v° — 9 + 20?)

3. (9¢° — ¢* — 2¢9)(—¢® + 5¢* + 4¢) (3¢ — 6¢* — 2q)

L (387 — 4s* + 65°) (25" + 35 — 5)(—3s" + 65" + 45°)

(227 + 227 — 92) (32" + 92° + 42%)(22% + 5z + 5)

Ot

6. (8¢” — ¢t —7¢*)(9¢® + 7¢* + 9¢) (= Tc* — 8¢ + 8¢?)

3

~(b® + 6b% + 7b)(20® — 8b* 4 5b)(—2b° — Tb* — 8b°)

8 (4b* — 4b + 1)(=T0° — 8b* — 3b%)(—b* — b® + Tb?)

9. (78 4+ 8" —38)(—06s8" — 3s™ + 4s §° — 48" + 58
(75% + s — 35)(—65° — 3s* + 45%)(9s° — 4s* + 85%)

10. (=3¢® = 5c— 1)(7¢ + & + 3¢)(7¢° + 9¢* + 5¢%)
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Multiplication de Trois Trinomes (J) Réponses

Simplifiez chaque expression.

(4?4 w? — 2w) (5w’ — w? — 6w?)(Tw? + 2w + 5)
= — 140w + 303w? + 33w® — 109w” + 5w’ — 236w’ + 60w*

—_

(0% =20 = 5)(=3v* + 8v* — 30?)(—8v° — Yt + 20%)
— —240™ — 110" + 807 + 2500% + 1900 — 20305 + 300°

[}

w

(96" = ¢ = 2¢)(=¢’ + 5¢” + 44)(3¢” — 6¢° — 2q)
= —27¢° + 192¢° — 159¢" — 332¢° — 6¢° + 764" + 164>

- (38° — 45 + 65%)(—25% + 35 — 5)(—3s° + 65" + 45°)
— 185'? — 875! + 195510 — 2805" + 1625 — 285" — 120s°

(227 + 227 — 92) (32" + 92° + 42%)(22% + 5z + 5)
— 122 + 782% + 14827 — 312% — 4422° — 5452* — 1802°

Ot

(86" — ¢t =7 (9 + T + 9¢) (=Tt — 8¢ + 8¢?)
— —504¢'? — 905¢ 4+ 1861 + 766¢” + 921¢% + 40¢” — 5048

[@))

-3

(b* + 6b* + Th)(2b° — 8b® + 5b)(—2b" — Tb* — 8b%)
— —4b" — 22p'0 + 1447 + 223b° + 344" — 3705 — 2800°

(40 — 4b + 1) (=70° — 8b* — 3b°) (—b* — b® + Tb°)
— 2801 + 3201 — 2058 — 458% + 9007 + 310° — 21p°

00

(75% 4 5% — 35)(—65" — 3s* + 45%)(9s” — 4s5* 4 857)
— 37851 — 755'2 + 1595 — 271510 + 1845 + 1525° — 9657

10. (=3c¢® — 5¢ — 1)(7¢® + ¢ + 3¢)(7c” + 9¢* + 5¢°)
— —147¢" — 455¢° — 594¢% — 491¢" — 270¢° — 107¢° — 15¢*

MathsLibres.com




